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Spin the spinner using a pencil and paperclip and
then colorhe answer. Can you get five in a line?
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Color the answers in the grid to reveal a picture. You may find the answers more than once.
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Graph the facts according to their answers. : FACTS XLl @ . : FACTS XLI 'Q :
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Multiplication Wheels
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f MENTAL MULTIPLICATION
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Answer the multiplication questions and

© uxu=__
(H) Ux5=__
(LD ux2=__
© uxll=__
(®uxlo=__

SECRET @@@@@

then use the letters fo

How long can an anaconda grow?

the fill in the secret code.
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0 the facts. Remember to cover any previous answers.
Checkl

Ux2=_  3xU=__  Ux5=__
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Fill in the answers o

the mulfiplication
questions.
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Skip Count by 4 (3w b £ Make i ARRAY
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Count by Y's to fill in the circles
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